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Equation of Circles

Standard Form:  (x—h)> +(y—k)* =72 Centre at (/, k) with radius »
2 2 D E
General Form: xX*+y"+Dx+Ey+F=0 Centre = (—2,—2]

e (B

Finding the equation of a circle

1) If Coordinates of the Centre and Radius are known, use Standard Form.

Example

r=+(5-3) +(3-2)°
=4/5 (keep it in surd form)

Equation:

(=3 +(r-2 = ({5 :
(x-3)>+(y—2)°* =5 (no need to expand LHS)

2) If three points on the circle are known, use General Form

Example
Let the equation be x> +y> + Dx+ Ey+ F =0. 5
Put (2, 0), (5, 0) and (4, 3) into the equation. 2]

2°+0°+DQ2)+E0)+F =0
5°4+0°+D)+E0)+F =0
4> +3* + DA+ EQR)+F =0 o

Solving the equations, D =-7,F = _77,F =10 "

Equation of circle is x> + y*> — 7x —%y +10=0
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r=4(5-3)+(3-2)°
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(x=37 +(v-27 = (V5]
(x=3) +(y-2)>=5 (&/A/&RM LHS)

2) R Ci B Ly BEAAZ  ER — AR o

7+
ZEW I EE X +)y +Dx+Ey+F=0.

£ (2,000 (5,0 & (4,3) "ATT#

22 +0*+D()+E(0)+F =0

5°4+0°+DGB)+E0)+F =0 '

4> +3* + DA+ ER)+F =0
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